JiR o —
HEE2 L

QUALITY FIRST / REPUTATION FIRST

Bt v 7% Hs 3R (i) A PR 23 A
il AR e AR Y A PR 2 )

Chike Hydraulic Pump (Shanghai) Co., Ltd.
Shanghai Linggang Hydraulic Pump Manufacturing Co., Ltd.

FRAEEIISO09001-2015/F BB A ZRIAIE



02 | %F#1) CKevB
| \/

Rl wgT

YRR (L) ARAR, _EEREBRERAEERAR, EIE LB ESEFIT AKX, T —
JVUNGE, WIS 2 ERER 2, A ERER. WA RERES W, 2RE 28 EBh—K
HISKAR AT,

AP 2 AR S MR RN E B R, W SR LA AT B R, Al M TR, TENL
W 1B LR A, BRI, AR, BRI L B T UK, REEE S R A YIRS IR T 2 AR
Gt

AR A EMEEINEME R E T, —VIvHE &R, VA PRI SRR & 5 RS

Company Profile

Chike Hydraulic Pump (Shanghai) Co., Ltd. / Shanghai Linggang Hydraulic Pump Manufacturing Co., Ltd.

Registered in the Shanghai Seaport Comprehensive Economic Development Zone, the company was founded in 1988. Its
predecessor was the branch plant of Shanghai Hydraulic Pump Factory. Specializing in the production and sales of
hydraulic pumps, hydraulic motors, and complete hydraulic systems, it operates as an integrated entity engaged in

manufacturing, trading, and maintenance services.

The company manufactures various models and specifications of fixed displacement bent axis axial piston pumps,
hydraulic motors, and variable displacement bent axis axial piston pumps. These products are widely applicable in open
and closed hydraulic systems across industries including:Construction, engineering machinery, metallurgical & mining
equipment, petroleum, railways, marine vessels, plastic processing, light industry, machine tools, and polyurethane foam

injection machines (high/low pressure).

Upholding a quality philosophy that regards quality and credibility as its lifeblood, the company prioritizes customer

needs and is committed to providing superior products and satisfactory after-sales service.

S LT

Hodik: BT AR R X TU B R ER 6975 FEI%: 13801772641 / 13391133025 EANHRFE : liuaibiao@163.com
ML www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AN IBAE: mysunlyg@hotmail.com




n@s AVK/A2FK/ATVKITH B R TR, g iiss | 03
~

A2VK/A2FK/A7VKil &5 TAEE B, Hid ARr

IV’EE@ Working Principle

.

SREVVE F 2 R U AR 5% 28 9 it R RE B I AT AR SE T B LAR e %, HEINRLAR N AIATE ZEFL R AR B, M RERE
A & R MR HEE R

Pump is the role of mechanical energy into hydraulic energy.Driven by the rotating cylinder through the connecting rod
plunger,theplungerhole cylinder volume change occurs.The medium is discharged from'the discharge port of the pump
with high pressure valve plate of thewindow.

ﬁﬁ;"ﬁ Applications

AR, 2R EE M T RIS B R AW

A high-pressure axial pistonpump, primarilyusedfor pumping and metering polyurethane liquids.

s
%,'.5‘ Features

BMREN T EEEEEES

High metering accuracy and reproducibility of the variable pumped volumes
TR NS RE I ZI A A T AN E T R, A HER, 81T AR
Robust manual adjustment via handwheel with integral precision measuring scale

TAEFE AT E125Mpa
Operating pressure up to 250bar

ORI, APRIE SR A

Low suction pressure,even when pumping high viscosity materials
e/, BRRE G
Excellent volumetric efficiency for high metering accuracy

ﬁﬁ%iﬁ/ﬁ%fjﬁ Technical Data/Installs the position

SRS FRANNL AV RE R A S MR B i, B (R b S R 80 0. 1mm,

A flexible coupler is adopted to connect the pump and the prime moter,with coaxiality no more than 0.1 mm.

LSRN AU R T AL T B B, TR TS A T T 2R A R e s, PABRIE SR 72 N FE T IR B Ak i A ME R
SR,

The leakage oil port shall be located on the highest place during installation,and the leakage oil tube shall behigher than
the highest poinit ofthe pump to ensure the pump is filled with oil.

I{’Flj?j]?ﬁ[% Working pressure range

JECI Input i Dfﬂﬂ({ﬂi DAEEBE@Ej]) Output(Maximum pressureatportAorB)
FF2R BB I T 1 SAE90.1-0.3M Paga X & 77 IR PN:25MPa
Filling pressure at the port S: 0.1-0.3Mpa Nominal pressure PN:25MPa

I &7 Pmax:32MPa

Peak value pressure Pmax:32MPa

Motk BT AR R X VU B EE NG 6975 FEE 13801772641 / 13391133025 ENHRFE: liuaibiao@163.com
A3k www.chike-pump.com www.pn-yyb.com  ZMNAHLE: 13641697252 ANARRHE: mysunlyg@hotmail.com T



04 | A2VK R5IRI AT ET 2R N4 CrVB

I \ y 4

A2VK SRRVl S 2 AR

Axial Piston Variable Pump- A2VK

A2VKRA 3 A B A28 T iy SN TR, JHi
BRRBLR, ST & XN T M7 SHIE A, TSR
T3, RN E Y B T, P AREE B AR =
HATHERE, A2VKAR I 2 & T ARG R i /oY
BERS, WHAEE IR R B F

The A2VK Series Bent Axis Variable Displacement Pumps
feature handwheel control for infinite adjustment,
equipped with a stroke indicator to achieve precise \
metering. This design offers exceptional convenience for
specific operational requirements. The handwheel can be installed on either the left or right side, allowing users to
select the configuration based on their needs.A2VK series pumps are specially suited for hydraulic systems operating

with high-viscosity media (such as greases and polyurethane), ensuring reliable performance in demanding applications.

ﬁ*gﬁ Technical Data

iﬂfﬁ . A2VK-12 A2VK-28 A2VK-55 A2VK-107 A2VK-225
Specification
Ny 3
BRiei em/r 4.93 11.6 28.1 54.8 107 225.1
Displacement
HIGE Ny 1450 1450 1450 1450 1450 1450
678 r/min Rated
Rotational Speed B9 Ny _ _ _ _ _ _
Maximun
HE P 25 25 25 25 25 25
7} MPa Rated
Pressure %—:‘.—
31.5 31.5 31.5 31.5 31.5 31.5
Maximun
HIAER (kW)
n=1450r/min P=PN 5 5.5 11 22 43 75
Input Power
Bl kg (F2hii) 21 22 36 64 117 230
Mass (Manual Control)
ok : g 2R X X T A AN R 6975 FEIE: 13801772641 / 13391133025 ENHRFE : liuaibiao@163.com

M3k www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AN IBAE: mysunlyg@hotmail.com



r&ﬂ BS3EA | 05
~”

A2VK SRRVl g2 | AR

Axial Piston Variable Pump- A2VK

ljﬂ%iﬁﬂﬂ Demonstration Of The Type

[A2v] K [28[mMAa| H [ R [P | 1] 1 [s02

, BSthAS
RER Corrosion-resistant model
Pump Type
R TER FRUE
Bent Axis Variable Pump Handwwheel Position

=gl EM [
A Right Left
Hydranlic Fluids
ReRENR (M3HimE) .
High Viscosit Fluids (View From The End Of Axis)
M A8 e
Specification Flow Control Type
/\ =
RIS L

. . 5 |12 | 28 | 55 |107|225
Nominal Capacity l l l l l l l Unidirectional IIl
RGN Tl el iR
Control Mode Output Shaft Model
Fantssl T
Manual Operated Parallel Key El
pEi:: Yl =yl
Oil Feed Mode Rotation Direction
= S S [TIES
FARREH B ale
Hiding Mode Trunnion-oiled Right
(B &) ETiE
(Self-suck) Left

(MihimE)
(View From The End Of Axis)
I Hodik: BT AR R X U B E R ER 6975 FEI%: 13801772641 / 13391133025 ENHRFE : liuaibiao@163.com
ML www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AN IBAE: mysunlyg@hotmail.com



RF

-~
2
2

06 | A2VK-5/125Mk

80
94 | 177
% B9 m10+1 5712
> M22*1.5 %14
g 6625 Al2 | IT K 3
M10*1 %10 7
| 8 =
W —
e 2k \
o
“ 10 .ﬂEﬁQ
—A \ = —
SR s
50 -
w 172 4-M8 R12 \
222 148
302
= EfA KA
DN 4M6 3R10 . 03 . N . * =
T , 4-M10 F18 A(B) WO Working Ports M22*1.5 ix14
e~ \\M/# S 0Kz >e ] Sucking Oil Port EZHEE 032
W__ m & o3 e T i §l:: | Transuding Oil Port  M14*1.5
WW R WA\ > ) S T1  HHhO Releases Oil Mouth  M14*1.5
o
b - Al2 RS0 Diluted Inject M10*1 310
o . g
w m 60 82 B9 #®EO Diluted Inject M10*1 /%12
£
<5

ANRERFE: mysunlyg@hotmail.com

IHBAE : liuaibiao@163.com

FRIE 113801772641 / 13391133025

AN HLIE 1 13641697252

Mtk b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com



R~F

2

i

Z

07 | A2VK-28%h

90
102 | 185
% B9 mio*1 %12
> M27*2 7®16
w70 AL2 o K 3
M10*1 ;%10 7
| g 2
AN 7 I i
2 e : \
, |_|“_._<_Eﬁm
2 o
8 |_|_<_EJ.&
A== e
62
w 195 4-M10®15 \ 150
257 185
357
EM KM
le 4M8 R10 040
DN 40 4-M12 718 A(B) HHA Working Ports M27*2 7R16
T \M/# S MmO Sucking Oil Port A= HERE 040
0 a
= 2 o | v T BG#EO Transuding Oil Port M14*1.5
> 0 |m —
% 2 s/ ) S T1 MO Releases Oil Mouth  M14*1.5
K_m 5 | Al2 #EE0  Diluted Inject M10*1 %10
> @ 013 ° B MO Diluted Inject M10*1 312
N g
< 3

ANRERFE: mysunlyg@hotmail.com

IHBAE : liuaibiao@163.com

FRIE 113801772641 / 13391133025

AN HLIE 1 13641697252

Mtk b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com



R~F

"

i

Z

08 | A2VK-55%h

110
123 ! 217
% B9 2-m1013%10
i N W
S I | i
e 8745 ALD K | g
2-M10*1 7810 Tl
|l v * ==
S a B ik i )
10 |_|_<:mﬁ.&
v L
74 [ [ |
317 236
440
Er KIe]
1 4M10 §14 . ) .
D.N 48 50 4-M12 F18 A(B) WO Working Ports M33*2 ®18
w/m \\7% S UAy:: | Sucking Oil Port E =55 ©50
To) P
%m o o L[ I T  ®@O  Transuding Oil Port  M18*1.5
%m “T d A\f\ S T1 @O Releases Oil Mouth  M18*1.5
K_m L Al2 F®E*0O Diluted Inject M10*1 ;®X10
> .m 88 02 B9  #®F0O Diluted Inject M10*1 K12
2 (O]
£
<5

ANRERFE: mysunlyg@hotmail.com

AIHBAE : liuaibiao@163.com

FRIE 113801772641 / 13391133025

AN HLIE 1 13641697252

Hitik: b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com



09 | A2VK-1079MER~T

148
133 | 226
% B9 mi0*13512
g 12°8°55  A12 —.A M
M10*1 %10
e ik /\
14
66 —
o 4-M16 25 236
388 \ 286
548
. EfA KI7
w 4M12 ;%15 o6a
N o0 | M2 722 A(B) WO  Working Ports M42*2 7R20
m 5 \\\M/% S M#O  Sucking Oil Port E=EE 064
N S 8 213 wm T i ¢l:: | Transuding Oil Port M22*1.5
N n —]
n_IU_m < ) S T1  HmO Releases Oil Mouth  M18*1.5
g £ e | Al2 #®BE0O  Diluted Inject M10*1 310
2 2 @110 118 B #EM  Diluted Inject M10*1 F12
£
<5

ANRERFE: mysunlyg@hotmail.com

IHBAE : liuaibiao@163.com

FRIE 113801772641 / 13391133025

AN HLIE 1 13641697252

Mtk b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com



10 | A2VK-2254MER~F

170

A *2 3722 n M 4
S ﬁ | n .
T 16710780 A12 —.A Ili\#\ T H—— m
M10*1 L
~ [
AN . A /\
g ]
10
90 —
110 _ -
4-M20 %30 \ 298
470 \ 360
670
e Em KIa]
R 4AM16 58 3 ; *9 2
™~ @88 AM16 524 A(B) HHO Working Ports M48*2 iR22
m Q \\7% S USy:: | Sucking Qil Port =R 088
A 2 . NIAEARY T #mO  Transuding Oil Port M33*15
ﬂ < ) “e KT S Tl MmO Releases Oil Mouth  M33*1.5
> 2 - Al2 IO Diluted Inject M10*1 5§10
o 120

> Z 130 porva B9 #ESEO  Diluted Inject M10*1 jF12
N E
<5

ANRERFE: mysunlyg@hotmail.com

AIHBAE : liuaibiao@163.com

FRIE 113801772641 / 13391133025

AN HLIE 1 13641697252

Hitik: b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com



naﬂ MK RBIR T R BBk A |
~’

A2F/K &RVl ZE e B AR/ ik

Axial Piston Fixed Pump/Motor- A2F/K

AF/KRFIFEHTVE B8R/ DX BRI ERINIHIRET . ES
ESMERZE S BRI meETT 2 B, A2F/ KR T IR EER/S
RE—MAE Tl EUARNERENESE, I HESMRER
SRR A ET ZNAT AT W W BB ER TEVM.
ERIE. ffE ZBRLIN T 42 T LR B RUEs 20BN F MBI FT
I ATVRE RS

A2F/K series of bent axis constant pump/motor

are advanced hydraulic componentsat home 3
and abroad, They can interchange completely /
with the overseas productswhich have the same

type and same specification, A2F/K series of bent axis constantpump/motor are reversible components;
They can meet needs of all kinds of hydraulicsystems by installing different valve plate and back plate, So
they can be widely used in.metallurgical, mine, petroleum, architecture, engineering machinery, railways,
shippingshipbuilding, plastics processing, light industry, machine tools, polyurethane foamingma-

chine,machinery open,closed hydraulic system.

ﬁ*%?& Technical Data

Fks
Specification
3

SiEHER cm’/r 6.2 9.4 11.6 22.7 28.1 54.8 107
Displacement
R HIGE Ny 1450 1450 1450 1450 1450 1450 1450
r/min Rated
Maximum
Rotational Speed

HUE Py 25 25 25 25 25 25 25
HJ) MPa Rated
Pressure %% Px

Maximun
HADZ (kW)
n=1450r/min P=PN 5.5 5.5 5.5 11 11 22 43
Input Power
Wik kg 21 22 36 64 117 230 230
Mass

Hodik: BT AR R X PU B E R ER 6975 FE1%: 13801772641 / 13391133025 ENHRFE : liuaibiao@163.com

M3k www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AN IBAE: mysunlyg@hotmail.com



N\
CeyB
4

BSRA |12

A2F/K ARVl S e B AR/ ik

Axial Piston Fixed Pump/Motor- A2F/K

Eﬂ%iﬁﬂﬂ Demonstration Of The Type

w2F/kl 28 [ w | 3 | P [ 1 [s02]

RISEHEE
Pump/Motor Type

MM EER/TE
Bent Axis Constant Puma/motor AZF/K

M 18

Specification

RIfHEE | 6 J10]12]23]28]45]55|07]
Nominal Capacity

i 73 17 (T X %)

Rotation Directin

PEmELS

Corrosion-resistant model

R

Type of rear cover

[1l2]sfa]s|

=g

Right El
"
g%ull??e-way

E‘E%q%)f—i Main features

RROEAER O JEAMRL, K, RRE e

1
2. IME/INTG, e 1

3. TAEE 1A E|25MPa

4. OIS, PTZR K ERG R A

5. FEFR(L IR E AL TG N T B S Tk AR
6
7

. RERKEN, BRI

. HRFER A R BB AR BRI =, 5 T SRR R

. Compact and space-saving design.
. Working pressure up to 25MPa.

N OO W N

protection.

I ikt : iR R XPU R A7 5

W3k www.chike-pump.com  www.pn-yyb.com

e Taal i
Output Shaft Model

T 5 it i’
Parallel Key El Spline El
AL

Form of structure

. Lowinlet pressure requirement, capable of pumping high-viscosityliquids.
. Specializedsurface treatment enhances corrosionresistance.
. Minimal flowpulsationand highvolumetric efficiency.

. Key components are made of importedraw materials, ensuring long service lifeand high stability.

. Dual-shaft seals and flushingchamber made of special materials, facilitatingdamage inspection and environmental

FRIE 113801772641 / 13391133025 E R4S : liuaibiao@163.com
ANAFEIE 1 13641697252

AN IBAE: mysunlyg@hotmail.com



13 | A2FK-6/10/129 MR~
— \/

A2FK-6/10/12%ME R~}

Dimensions of A2FK-6/10/12

49.5 38

¥

6%6%25 3 i
THEkeyed
|

2 215 B
Pt - -
o |~NID 777/
M6 ;%X16
|
Al2
M10*1
240
95
A%c i 450
/ A V2 i
2N $100
/—x\\ -,
\
S
/ \/ o ) \\ 95
al,
N\ / A

M22*1.5 K14

A |TAEEES REHIO) | o M22*1.5

S Mo (HERHCT) Suction (Inlet) M33*2

T FEARHE I Case Drain M12*1.5
A12 FREEN Diluted Inject M10*1

ikt : bR R XPUHHZ AR 697 5

W3k www.chike-pump.com  www.pn-yyb.com

FRIE 113801772641 / 13391133025
AN HLIE : 13641697252

AIHBAE : liuaibiao@163.com
ANRERFE: mysunlyg@hotmail.com



14 | A2FK-23/289M R~

A2FK-23/28%MER ~F

Dimensions of A2FK-23/28

62.5 47.5 50 145
- 16
§7°30 | g T 118
T
T5gkeyed
| \\ I M16*1.5
19
= [To) | ,i// lf‘ J_
O |0 N o L= .
3 ey VS ] ‘ a'
M8 ;X19 0
| (e 0]
| 7
Al2 , =
M10*1 X
306
118
AE)O i 450
/ N/ ‘
& % ®125
53
\\\ - -
(o) 118 &
- N
<\ &/ ;

A | TAREEE GRERHID) | e M27%2

S Medi GEERsHET) Suction (Inlet) M42*%2

T ST Case Drain M16*1.5
Al12 FRREEC Diluted Inject M10*1

ikt : bR R X VU P ARK697 5

W3k www.chike-pump.com  www.pn-yyb.com

FRIE 113801772641 / 13391133025
AN HLIE 1 13641697252

HBAE : liuaibiao@163.com
ANRERFE: mysunlyg@hotmail.com



15 | A2FK-559MER T CVB
| \/

A2FK-55%MER )

Dimensions of A2FK-55

64 28 108 183
- 20
151
8*7*45 ——— >
10 T
FHkeyed
A M18*1.5
S| 191 =2 . . \ A
— o e [
© ] A ! ‘ a
M12 728 ©
[ —
| P
M10*1 X
381
150
3o —t—d5e
/ \ i Xm%m
& O ®160 SHZ4-M10F17S
? Q\ P o 83 29 g
N\
/ P==N \\ A
\/ © ) 150
\\ N / A
\ 7/
yd \ &_/ 2
D S~ &S SRZ4-M10 R17
“ V) IS (50.8*23.8) 132
Y
h o B Working Line %=
A TAFER (REHE) (High Pressure Outlet) 4-M10 @17(50.8*23.8)
U . bt
S W GERH) Suction (Inlet) AM10 R17(48448)
T SR Case Drain M18*1.5
Al12 MR Diluted Inject M10*1
Hiupk: Ei 2R X O H EHE A 6975 FH1%: 13801772641 / 13391133025 [E AHEAE : liuaibiao@163.com

M3k www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AN IBAE: mysunlyg@hotmail.com



16 | A2FK-1075MERST

A2FK-10TAME R~}

Dimensions of A2FK-107

83.5 39 130
25
12*8*55 10 o
T5keyed
\\ I
)
28
8 Ln gl ’111 777
— M e - —
e | LA
M12 7x28 e
1 —
Al2
M10*1
470
190
Ny —t—— 450
/ “ i Xﬁ?'ﬂ@l
N NG 2! ®200 EZAMI2RITS
80 Kis, 5] e
- 60*60)
1 NAN
(o) 190
A \ &_/ 2
Q v \_)) P17.5 E=4-M12 77819
22y i TH A& Fks
= Working Line Bz
A TARER (B (High Pressure Outlet) 4-M10 f§l9(57.l*27.8)
s PR . %=
S W Gt Suction (Inlet) 4-M10 F17(60°60)
T S Case Drain M18*1.5
A12 RRED Diluted Inject M10*1

ikt : g R R XPU T P ARK697 5

W3k www.chike-pump.com  www.pn-yyb.com

FRIE 113801772641 / 13391133025
AN HLTE : 13641697252

AHBAE : liuaibiao@163.com
ANRERFE: mysunlyg@hotmail.com



I.'&B A2F/K RIIFIH R A EEER/SE A | 17

A7VK SRRVl g 2 | AR

Axial piston variable pump- A7VK

AVKRF IR T EREAERZGT, RIVINRE/NITEE, &
EZAETHHIANIHEE S AVKAER], 7 T B &R TR ERSINR
(WHRE MR AR R)o
ERHAREN BRSSP R R,
R E BRI B# 1T F BT,

T K BRI E BRI AR AR S B IR R
The ATVK series bent-axis variable displacement pumps
feature a compact design, offering small dimensions,
low noise levels, and precise metering. Their mounting
flange, drive shaft, and functionality are identical to the A2VK
series, facilitating straightforward replacement.These pumps are suitable for high-viscosity media (such as
grease-like substances and polyurethane media).
Enhanced corrosion resistance is achieved through specialized surface treatments.
Manual adjustment is performed using a precision display and clamping fixture.

Volumetric efficiency is increased by a durable rotating group utilizing axial tapered-piston technology.

1&*’3?& Technical Parameters

ﬁ#ﬁ ) A7VK-12 A7VK-28
Specification
> 3
MitHEHR cm?®/r o 0.1
Displacement
. HE Nn 1450 1450
i r/min  |Rated
Rotational Speed e Ny
Maximun
HUE P 25 25
)1 MPa Rated
P =X
ressare e P 31.5 31.5
Maximun
A% (KW)
n=1450r/min P=PN 5.5 11
Input Power
ikt kg (Fahihl) 11.8 22.2
Mass (Manual Control)
ok : g 2R X X T A AN R 6975 FEIE: 13801772641 / 13391133025 ENHRFE : liuaibiao@163.com

W3k www.chike-pump.com www.pn-yyb.com  #MAHLIE: 13641697252 SNEARRFE: mysunlyg@hotmail.com



A\

CeyB
4

A7VK R5RH Ul HE2E 2R AR

Axial piston variable pump- A7VK

ﬂ%ﬁiﬂﬂ Demonstration Of The Type

[av] K [2[ma]l H|[R[P]F [ o] o]s02]

BISi%BE | 18
— ——

REH
Pump Type

MmN TER
Bent Axis Variable Pump

il
Hydranlic Fluids

REHENER
High Viscosit Fluids

M 18

Specification

/\ =
N i3
Nominal Capacity

RS

Corrosion-resistant model

FRAERR A

Standard Version

IR AT E
Overilcv walve without standard

A B

Fluororubber

=HlAR T tH Az T
Control Mode Output Shaft Model
Fahizhl T o

Manual Operated Parallel Key El
i Yk gyl
Oil Feed Mode Rotation Direction
G H Tl tH Az T
Oilinside the rear lid Clockwvisa
(B &)

(Self-suck)

Hitik: b 2R B IX PR A 886975
W3k www.chike-pump.com  www.pn-yyb.com

FRIE 113801772641 / 13391133025
ANEA I 1 13641697252

E A : liuaibiao@163.com
AN IBAE: mysunlyg@hotmail.com



19 | ATVK-124MER~F

A7TVK-125Miz R~

Dimensions of ATVK-12

6*6*25 o

-

-

51
39

M10*1

T14 M12*15

125

- M10*1

M12*1.5
-

T I

20
T

e

_ﬁ_.\_\ J—
—_

M10*1

554 L

49

80

450

100

51

M12*1.5

N /

Vg max

S S
G11/4 3720

2R 1 i Fiks
A TARER (FEEHO)  — M22*1.5 {14
(High Pressure Outlet)

S Wl Gt Suction (Inlet) G1 1/4 %20
T1T2 N[kl Case Drain M12*1.5 §12

U Bl IRE Bearing Flush M12*1.5 {12
U102 HEHR Seal Fluid M10*1 iR8
U3 U4 R Seal Fluid M10*1 %8

ikt : bR R X VU AR 6975

W3k www.chike-pump.com  www.pn-yyb.com

FRIE 113801772641 / 13391133025
AN HLTE 1 13641697252

69
74

103

M22*1.5 ;%14
A

AIHEFS : liuaibiao@163.com

ANRERFE: mysunlyg@hotmail.com



20 | ATVK-289MER~T CVB
] \/

A7TVK-285MizR~F

Dimensions of ATVK-28

163
L o M10*1
B . . 61
8*7*40 o 43 14 M16*1.5 M18*1.5
| Y i
T T _J ! h 4
) ~ (=] LN
\ % o ) ] ~ ~
S o L ) .
8 K 8 T 1 '>"\—\;:\—\ <> ks —t
M8 #19 i‘ | ) = (=
Y %
M10*1 / —
8 . LE 40 :’,

L4 M18*1.5

- — - /

ey 450 | |

'
Vg max |
]
|
T

118

2 g ’ S M27*2 3816
i 118 K G11/2 320 A
IR ; {}
A TAEEH (B R M27%2 116
(High Pressure Outlet)
S Wl Gt Suction (Inlet) G11/2 %20
T1T2 FEPRIEH Case Drain M18*1.5 if12
U AR ML Bearing Flush M16*1.5 {12
U102 eI Seal Fluid M10*1 &8
U3 U4 eI Seal Fluid M10*1 {R8
I ik b T AR R X P A A B 697 B FIIE: 13801772641 /13391133025  [EPAIARAS: livaibiao@163.com
ML www.chike-pump.com www.pn-yyb.com  #MAHIE: 13641697252 AMEAIBAE: mysunlyg@hotmail.com



4

Y R e ULE:

o'

PISIRHTE P R R AT 15

We warmly welcome new and old customers from home and abroad
to contact us for negotiations

ik FiETE R X UEFET FAKTS
Add: 697 Pengping Road, Situan Town, Fengxianan District, Shanghai
ff4mPost Code: 201413  HEiETell: +86-21-58076009
fHESale: +86-21-58076505 f{%EFax: +86-21-58076077
FHIM/P: 13801772641 13391133025 [EHHEEFE: liuaibiao@163.com (Domestic sales)
SNERERIE: 13641697252  HMERMBAS: mysunlyg@hotmail.com (International sales)
Mitweb: www.chike-pump.com www.pn-yyb.com



